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Attempt All Questions.

Make Suitable Assumptions Wherever Necessary.
Figures To The Right Indicate Full Marks.
English Version Is Authentic

Explain Nodal Analysis With The Help Of Reqd Equations Using A T Network
Applied With A Dc Supply Of Voltage E

State The Superposition Theorem.Use A T Network Applied With A Dc Supply
Of Voltage E1 On One Side & E2 On Otherside.Get Equations For The Current
Passing Through R3(I3,13°,13”) & Show That [3=13"+I3".

Define Quality Factor.Get The Equations Of It For An Inductor & A Capacitor.
Get The Equation For The Resonance Frequency For A Parallel Resonance
Circuit.Define Banwidth & Selectivity For The Same.

OR
A Series Resonance Circuit Takes A Maximum Current Of 0.2A At 100, 50 HZ.
If The Voltage Across The Capacitor Is 200 Vat Resonance Frequency Find L, R,
Q &B.W.

Get The Equation Of Zom For A Symmetrical Pai Network.
Design A Symmetrical T Network Attenuator If R, = 600 Ohms & Attenuation
Is 20 Db.
OR
Explain Symmetrical Lattice Attanuator With Required Equations.
Write Short Note On Phase Equaliser.

Get The Equation Of Cutoff Frequency For A Constant K Type Low Pass Filter.

Design A Constant K Type High Pass Filter If fc =10 Khz & R, =600 Ohms.
OR

Define Neper & Db.Get The Relation Between Them.

Design M Derived Low Pass T & = Filter If fc = 1800 Hz , foo =2000 HZ & R,

= 600 Ohms.

Get The Condition For Distortionless Line.
Define : WAVE LENGTH, STANDING WAVE RATIO, COEFFICIENT OF
COUPLING, REFLECTION COEFFICIENT, KCL, KVL, BAND PASS
FILTER.

OR
A TRANSMISSION LINE has R=4 OHMS/KM, L= 2.5 mH/KM, C=
0.009pF/KM, G= 0.29umho/km, =1000 HZ. Calculate Zo, a, B, & v.
Explain The Loading Of Telephone Line.
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E dlce Al A sladal T uBuY Hi2 %23l 1ls00 ad «Alse
WllARU UM A

YUt (AU cvll. T URuell As DI E1 dlce ol oflost B3 E2 dlee
UWAA A Al R3 Hil AR Ul @QYydyals M2 13, 13°, 37 ol uls:00
AN 13 = 13°+13” UAA 53

L A C HRZ sAAUAZL ¥s2R0tl dlsel Andl.,
UHLAR Vofolle HIR Bojolle wigfle] Mls0L ANl o URuy HiR dslAsau
U RAGRQZRA catvaulRld s2A.

wYall
100, 50 HZ {1l Aol lofotle M 0.2A HedH [AYydycals unadl el
Uofolle URUAU HIZ 3URRRA AHIAR. A2 200V 8lal AL, R, Q wal
AslAsastl yell K.

RARsc n uRua 2 Zor HIRe uMlswL AnAl.
RARSsA T uRua M2 %A Ro = 600 OHMS ol A2ejA 3ol
20 DB &l dl T.AR2ejl2Rell Uatl 53,

ual
o33l A5 ad AalsU WeyAe UMl
3859 SscAls? (AA gsallu cull.

slde K UslRell Al W (3e2R HI2 52 s vigRle] alsel Anal
slee K UslRell 618 W (3cer M@ fo=10KHZ & Ro =600 OHMS. 8la Al (3ee?
ofl Uall 53A.

Al
NEPER & DB & cllvAdlRd 5. dHell dell oit e2lad axlswl Andl
%\ fc = 1800 HZ , foo = 2000 HZ ¥\ Rp, =600 OHMS &l ll m derived Al WAL T
U 7 (3e2Rell Ul 53A.

(322talet cdrRell cttset HIzoll %331 2R A,
clvAlRd $A: WAVE LENGTH, STANDING WAVE RATIO, COEFFICIENT OF

COUPLING, REFLECTION COEFFICIENT, KCL, KVL, 4ol BAND PASS
FILTER.
AUl

%\ 2iuHlalet AEet M2 R=4 OHMS/KM, L= 2.5 mH/KM, C= 0.009pF/KM, G=
0.29umho/km, £=1000 HZ &l dl Zo, a, B, ¥t v ofl 213l 53
@8t ot W2 ASatell AHgAl 2.
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